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B2AL K& 147,000 147,000 0
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& 556,133
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s 25,000
BEWNAA MM N2 (BZWA X&) 169,320 48,660 120,660
= 58,380
< 29,190
e 81,750
307 glz2+ol & 169,320 48,660 120,660
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< 4,670
[ia 7,006
301 YptE A 11,676 0 11,676
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s 13,380
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Os -9 A XA 26,760
< 13,380
s 13,380
Ct28t0tE SatAtd 148,260 30,129 118,131
J| 103,782
< 14,950
s 29,528
307 gl2tol & 148,260 30,129 118,131
J| 103,782
< 14,950
s 29,528
05 RIZIRI & 3 148,260 30,129 118,131
OUZaIE EstALY 148,260
J| 103,782
< 14,950
[ia 29,528
sIaNE 22 22,163 22,162 1
J| 15,514
< 1,995
i 4,654
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